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NANYANG PRIMARY SCHOOL -

END-OF-YEAR EXAMINATION
2020

PRIMARY 3

MATHEMATICS
 (BOOKLET A)

Total Duration for Booklets A and B: 1 hour 45 minuies
Additional materials: Optical Answer Sheet (OAS)

INSTRUCTIONS TO PUPILS

1. Do not turn over this page untdl you are told o do so. -

2. Follow all instructions carefully.

3. Answer all questions.

4. Shade your answers in the Optical Answer Sheet {OAS) provided.

Class: Primary 3 ( )
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Questions 1 to 20 cany 2. marks each For ‘each quesbon four options are

* given. One of themis the correct answer. Make your choice (1,2, 3or4)and

shade your answer on the Optical Answer Sheet. (40 marks)

1. Whatis the number shown by the number discs below?

O2 O

(1) 4432
2 4342
(3) 3442

(9 3244

2. W%M,WsmomEr,,mwmﬁmMeﬁ

6241 | | 4759 4038 6892

(1) 4038, 4759, 6241, 6892
{2) 4758, 4038, 6892, €241
(3) 6892, G241, 4759, 4038
(4) €802, 6241, 4038, 4750



3. Whatisthe sum of 5274 and 12257

(1) 6499
(2) 6472
3 4051 .
(4) 4049

4. What is the difference between 7408 and 24687

(1) 4040
() 4940
(3) 5060

‘4) 5160

5. Findihe valte of 72+ 9.

m
@
@
)

e & =~ &
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There are 524 erasers in a bag.

How many erasers are there in 8 such bags?

(1) 4082
() 4002
3 # 62
4 4192

What is the remainder when 274 is divided by 772

mn 1
(2) 6
¢ 4
4 39

4 1
Which of the following is not an equivalent frachion of 3 ?

¢
@

(3)

Ble ©l® olN

e

4
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9.  Amange the fractions in order, starting from the greafeSi.

Greatest Smallest

1 3 5 6

(1) Tt oA ¥ oo
57106 12

5 6 3 1

(2) ~ » -—-‘: ey 2 jpog
6’12105

6 3 5 1

(3) Sy > a2 b o > &
12°10°6°5

6 5 3 1

@ —, =, -, -
12°6°10°5

10.  Which of the following figures shows an angle that is greater than a right

angle?

)

&)

@

)




.- ?}ﬂe;nju prepared and poured some fruit juice into 4 containers as shown

How much fruit juice did she prepare altogether?

) 37ml
(2) 370ml
(3) s3070ml
(4 3700mi

12. Melissa uses the following number cards fo form the greatest 4-digit odd

number.
Each card is only used once.

alloll4l[7][5

What is the number?

(1) 9754
2 9745
(3) 9570

(4) 9547
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13, Look at the number pattern below.
* The rule of the number patterr is to subtract 400 to get the next number.

9999, 9599, 9199, 8799, 8399, 7399

Which of the numbers in the number patter is wrong?

(1) 9199
(2) 8799
@) 8399
(4) 7899

14.  There were 522 blue marbles.
The number of red marbles was 3 times as many as the number of blue
marbles. )
How many maibles were there altogether?

(1) 2088
(2) 1566
(3) 695

@) 174 i

15. MrBoo adds 2 g of sugar io his coffee each day.
He has 608 g of sugar.
How many days will Mr Boo take fo finish all the sugar?

(1) 34
2) 300
() 304
(4) 340
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16. Aaronand has friends went running.
The table below shows the distance Aaron and his friends ran

Who ran the furthest distance?
| Distance ran
; Aamn | 9870 cm

Bériny : 89 m
Charles | 97m5ecm
Derek " 9um9m

(1) Aaron

(@ Benny

(3) Charles

{(4) Derek

17. James bought a pair of pants and a shirt
The pair of pants cost $37.40.
The shirt cost $24.50 less than the pair of pants.
How much did James spend on the 2 ilems allogether?

{1)- $99.30
(2) $86.40
{3) $61.90
) $50.30
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18. .

19.

20.

Siew.Hui and her friends left an amusement park at 7.10 p.m.
They spent 8 h 35 min in the amusement park.
What trme did they reach the amusement park?

1) 10.35a.m.

(2)  1045am.
(3) 11.35am.

(4) 11.45am.

A bookshelf can hold a total of 1124 books.

Muthu has 327 books on the bookshelf.

He wanis to buy more books 1o fill his bookshelf completely.

Each box contains 9 books.

What is the smallest number of boxes of books that Muthu needs to buy?

(1) 88
(2) 89

3) 124

(4) 125

There is a 4-digit number.

The first digit and the last digit of the number aie even.
The difference between the first digit and the last digit of the number is 2.
Thedxgrtmﬁ}ehundredsplaoelsﬁ)emofﬁ)edigﬁ in the thousands

place and tens place.
What is the nurber?
(1) 4532
() 4732
(3) 6734
4y 6932
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NANYANG PRIMARY SCHOOL
" END-OF-YEAR EXAMINATION
- 2020

PRIMARY 3

- MATHEMATICS
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour 45 minutes

INSTRUCTIONS TO PUPILS

2. Follow all instructions carefully.

1. Do not turn over this page until you are told to do so.

3. Answer all questions.
4. ,Write your answers in this booklet.

Name: ___ « i ( )
Class: Primary 3 ( ) |
Parent’s Siéﬁa!ure: .
{Booklet A 140
Booklet B 160
Total 7 100

Please sign and refurn the examination paper the next day. Any queries

should be raised at the same time when retuming the paper.
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- Questxons 211040 canyz marks each Show your worksng cleaﬂy and wrile
_your answers in the spaces provided. For questions which require units, give
- your answers in the units stated. - (40 marks)

21. Mrs Tan had some chocolate cupcakes and stawbeny cupcakes atfirst.
After she sold 675 chooolaie cupcakes and 525 strawbeny cupcakes,
she had 100 cupcakes left. .
How many chocolate cupcakes and strawbernry cupcakes did Mrs Tan
have atfirst?

Ans: _
22.  Whatis the missing numerator?
2 ?
7 28
Ans:
23. Wiite 3 h 43 min in minutes.
Ans: min
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24. -What is the missing fraction? '
3

broaad

l :.?
8 4

Ans:

25. There are 7 bars of chocolate and 6 lolhpops in each bag
There are a total 0f 35 bars of chocolaté.

~ How many lollipops are thefe inall the bags?

26.  Alice collected 197 stamps.
Zheng Xin collected 2 imes as many staanps as Alice.
Howard collected 48 more stamps than Zheng Xin.
How many stamps did Howard collect?




27. ismail had 869 cookxes

He packed all of them into boxes of 8 with some cook;es left over.
How many cookxes were left over?

-28. Each packet of ﬂour weighs 220 0. .
A baker has 4 such packets of flour.

He wanis to bake 8 similar cakes with all the packets of flour.
How much flour will he use o bake one cake?

Ans: S

29.  Study the figure given below.

What iraction of the figure is shaded?
Write the fraciion in fs simplest form.

521
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30. Study the fractions below.

Wi

-4 2 111
9: 3. 6

Q)] Y

-

 Which of the two fraction's add up to make 1 whole?

Ans: ___ , ant‘i,

31.  MrLlim bought a book for $20.55 and a calculator for $49.90.
He gave the cashier a $100 note.
How much change did he receive?

Moscs




32. - The weighing scales below show the masses of the following
objects. ' ’

What is the total mass of the 2 objects?
Give your answer in grams.

33. The capacily of a container is 00 mi.
5 identical full botiles of water are needed 1o fill the container completely.
2 identical full cups of waier are needed to 1ill the bottle completely.
What is the capacily of each cup?
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., 34‘ A :

Srija walched a movie at 10.45 am.

. The movie ended 2 h 30 min later.

- What time did Snja finish watching the movie?
Gwe your answer m am. or p.m.

Ans:

Alicia and Bemice had an equal number of stickers at first.

Alicia used 1452 of her stickers and Bernice used 367 of her slickers.
Bernice then bought ancther 230 stickers.

How many more stickers did Bemice have than Alicia in the end?




36.. The bar graph below shows the favourite ice cream: ﬁavours of a class
- 6f 40 students.

Complete the bar graph by dramng the bar that shows the number of
students who chose mango ice cream.

Favourite Ice Cream - -
16 ¢ - T
2 ’? 3
14 =
. |
12 T
. 3 ’
10 -
Number of 3 :
Students
5
4
2
0

Chocolate Strawbeny A Mango Carame}
-Type of ice Cream

37. Lynnhad some beads af first.
Janice had 464 fewer beads than Lynn.
HowmanybeadsnmstLynng"vetoJamoesomatboﬂz of them woukd
have the same number of beads in the end?

525



~ Mr Toh bought 2 similar books and 3 similar magazines for $24.90.
1 such book and 1 such’ magazine cost a total of $10.
How much did-1 magazme cost?-

Ans: %

39. En Xihad some pencils at first.
She gave 472 of her pencils away and bought 158 pencils.
In the end, she had 636 pencils.
How many pencils did En Xi have at first?
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40. - The bar graph below shows tfie rumber of chairs Sandy sold in 3 days,

Sale of Chairs
Number
of
chairs
sold
Day 1 Day 2 Day 3

Sandy sold 20 more chairs on Day 2 than Day 1.
How many chairs were sold on Day 3?2
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For questions 41to 45, stiow. your working clearly and
 the spaces provided. The number of marks ayaiable is shown MEEETE L.
- atthe end of each question or part-question. . Lt ISR

write your answers in
shown in brackets | 1

A,

Ahmad has 738 sweels. :
- He has 129 more sweets than Wayne.

{a) How many sweets does Wayne have?

Ahmad gives all his sweels equally to 6 people.
(b) How many sweeis does each persen get?

Ans: (a) _ B .
() =2




42, The route details of the MRT Triangle Line are as shown below.

1 Pearst | Amond A9min

{a) Atrainleft Cashew MRT stationat 10.58am.

(b) Fandi reached Hazelnut MRT station.
Which station did he take the train from?

Ans: (a)

N

®)_

B

31

529



43. Abakerbaked 100buns eachday.
The bar graph shows the number of buns that were sold each day.

Number of buns sold each day

Monday _,
:
Tuesday - ;
!
: ‘: 5
Wednesday | ! ;
) : '
— : :
Thursday ; 3
1 , ¥ x
ot :
. ] 3 : s
Friday A ;

' . i ! x. A & X 2 X : LY ]

0 10 20 30 40 50 60 70 80 99 100

{a) How many buns were left unsold on Friday?

A J B AU S LT FEORS SASRE PR I

How much did the baker receive from the sale of buns on Tuesday?

Ans: {(a) 2}
(b) — 2

12

530



44.  Afank was filled with 6780 ml of water.
Sam poured out 729 mi of water from the tank into an emply container.

(@) How much water was left in the tank?
Give your answer in litrés and millilitres.

Sam poured out all the water from the container into 9 similar cups.
He filled each cup to the brim before filling the next cup.
In the end, he was short of 171 ml of water.

(b) What was the capacily of each cup?

CAns: (a) | v

(b) N 74|

13

531



45. Thereare 13~do§s and chickens altogether.
They have a total of 44 legs.

(a) How many dogs are there?

{b) How many more dogs than chickens are there?

Ans. (a) i3]
(®) M

End of Paper

14
532



N
Q\!

1D IVIAThS LR (b= War"bxapm 4UL0

/Quastions 4 1020 cacry 2 marks sach, | For sach queation, four options are

Sivan. One of theen s Ui cotract antwer, Make your cholos {1, 2, 3 o 4} and

Ande your anewer on the Oplical Answer Shael.

o i)

qx

2
~

Vhata the furn shown bit e pmber dises besow?

OEOEE @@ O
O O O

3%

) A
@), Az
) ke

) R4 . ‘ ﬁ*v

Amang’ e folowkig tumbers i order, wih the
v} staring . orentest

2 3 4 \
[eas y (oo ] [La0e | ez |

0 sﬂ 80, aan, 6an
@ :s AEI8, 6392, 8244
1) 6o, 0241, 4780, 4008
W e “ta1, nh, 4168 qu

¥ zsrv?vt&-ig.gt*;?g»ggﬂ:g

) foudml, 1000mL. 7oomb.

EEE=

;n.oooar ’
xs..?gg!o:xs.ni?a.xxog .
(LTt T
(2 a10m
3 %rom’

Ay 8100 ml 4
fgcsn‘ag%ga-saanio:s;x,ﬁe%

numbet,
ERch Cad Inonty uted once.

9||0]/4/7||5

hai i e rrwibar)

(0 o184
@ eras " .

X
@ o570 ! (2)

). o

b

14,

Vinatla the sum of 5274 sed 12267

5274
W ow +P|Wm.|m._l
@ o PEEAN
{3) 4081
“h aven . 1)
Yitwt s Yo d¥farnnon between 7408 arxt 24587 "
; Au...cw
{1y 4000 N.svmw
() ava0 %
(3
W s (2
Fd the valve ¢f T2 ¢ 6,
M) 4
@t
® s 3
“w 9
2
Lookat the reerber patiam bolow,
Thir tube of tha pambet patiern 1 10 sblratt 400 10 pattha next nurmber,
L%o ‘to MO LA w500
o s e
9998, ou»u. ﬁs. 8799, 8383, 7888
go*§§34&§~¥=-3w§8.~
W
 wmee
{3 - 8 v
). 7889 %
There were 822 bhos merbies,
Tiwe purber of 196 rartivs wae 3 tmeas as morry 83 the mmber of bt
g;ﬂé%‘ﬁﬁnavgg z22
P = ,W 3 A
() 1880 202%%¢
R L]
[
. . Jumdy
oo ga2. X A =2088 )
. K Boo wide 2 g of sugar 1o hia collve aach day.
Y has 608 gof sugar,
gg?«-(a‘uﬂgsgag.g
o 306 (3)
T e 27 m CA)
[SE Y] _ ¥
- °
4} 840
“ |||.o.M|.

7.

8.

Thetn ate 524 eranars n & bag.
How quny v e ther 8 such baps?

1
@
)
)

Whatis the rerwirdes whon 214 s diided Wy 77 ¢

4]
2
&)
3]

o
- V514
n AT
4182
4192

Iz

q
. .: Y
2 ¥

3 -4 3

k]

U

8

Ll

3
Yitich ol the Jolowing i not 80 scutralent (aictios of 3 k4

212
n 03... w
i, &
@ 3= 3
82, &
W gt 5
Ak, A
W S 3 3
3
A gi?.}ﬁ-t«i%ﬂ
?gtg.g?ngzgoafsoi!-a
WO tan the hathest dtancs?
Distanca ran ﬂ
Aaren ) R370em #
Danty ¥m
Charkes 7msem
Dk Qunem
{kmz 1000 m
(1) Ason
{00em
3) OGany tm = ¢ .%lv
3} Cham
{4)  Deret
13
ER S
. Jaroas bought & parof and & shist, -324:80
agvﬁxc.gg«awwﬂm. * .M‘Ac
“Tha shidt covt $24.50 lass than (e pak of panis. e
How much €d James spend o0 the 2 fiems alogather? OO0
. 3149
$12° q0
(G 105 { .
Shicts B HD-SIEC 5 0:30
{2} 58040 n... WI;..NI.&O
@) ssigo -
A} $50M
“ Total-HE31.40 rd12:90
= £50:30
h ~

0

Aseangs tha fractions in aedar, s O L gy
3,
- fh’»fq.\-r
15 6 ! “
0812
smnhiee
Cregtest Smaey 3
x T
m roas s e B
5 e 7 (R
14 -
w22 2 Getnte b 3
I ERTERTERY -
w L2 8 <
76 s
4 s 3 9
4 — -
oG5 s L2

«Eﬁwlis‘aoﬁs:i\_van?,:ﬂ A1 thadt o 1tk

LA
AU

Shrw Mk s Der IR et I Ut paed s P 10 3 m

Yt tene O3 I B TR )
a4, 34 s
(1) 103%am Pt - ‘e
L NSRRI ] LA
2) 104%am g.m am OmM i
{31 WdSam
(4 145am

B

A bokshed.can HoKS 4 oGk OF 1124 tocxs,

Wt hes 327 BOOKS G e oKt

Ha wearta 10 Ly more Locks 10 OF 18 SORmSl e COFIMRRYy

£ach b arrsmea § Dooka.

v . 0 eraben niore of traves of ook Dot A e gty ? @ 4

-rwv.\'
m & nz4 =327 =797
@ 7879 = B3 RE)
& _ 334y =84
Ay I
Y

Thore 8 Spd Drartoee,

Tha fom, w0l e laxt Of the reaTtom ain vty

The SelEraccs tetwesn 1% it S ) G oA U v B 2
The G 6 B Durdreay piece & e sum o T e e s i
T3 M e plac.
What 28 W Furer?
11 a2

2 o
b (2
) M

§
bl
533



P4 Maths £ad«orn eaes Lram 1040

4
Cuestony 2116 40 Gary 2 marka eikch, u§§~§ clarly and wifis . ¥ 21, limaihad 889 cooNles. 1
your Shawsi & Ihe Spaced provided, . For uealiony which reauie units, giv 26, Wit ts the missing fraction? ._.Saa..ag:osx.::;ssa.snx_:!_s...m%w 30 Siudy the fractions bek,
FOUT anaveah ¥y the Lets tecl. 140 murka} 5 4 . ot many tookles werk Joft cvar?
o m?MnH v ’ 256958 1DpR RS o
R S zaq.:?ngsg-:qaﬂfzagnaﬂxs;g
AR st wld 870 Arct 526

‘t hed 100 cupcakey heft. -

v v
| 3] DEmHnL
' Pl 3 s ) Lad
P ;w. P m' (A S
How iy chcrite i virvo o * '
sty 935 L ny cvocakes 0 s 7 5

; - H.P\.w
Hi,o S :um 66 www .w...w.w .w;:q N < -3 1w of es pws 1732003 608 D 10 ARG | PR Y
. : a B ) 1% 00 \Wnn?\nv Ana: 8 e N .Mu;..ﬂvmvn.uM
©7 ioo+EaBueen " — . S nzy 275 L ke
R T . 3 P
GASHETD = 1300 (M) ?35%%5.’& :.S%sm.%ﬁfi»-..inﬁ:.zgs 5D
b 3 , _wOO Haow tnany alioops s thare in all the bags? nﬂam.;%vﬂxf;mml%gaﬁsfy% P
Lo " . . = . 11 9
- - 35 %72 5 ' @305 110 ) AL«M@C
22 WAL the siaing purisecaion?’ - ) 20078 Z 110 (s - Lo A e
£ X5 230 (/) o po A .
2 G { ~55" .y
752 . . pon | O.:;!l.c R I e Lam Sucnt @ Dok 1oe $720 84 st & calcuseion o $40 90 PR
. S iokyiylomiephri b r49l
ARB ;m.m : o B30 . 20, Study it dyuen ghva bulow. Ha A
Hp 4o 28 ¢ , s St » §20°55 +4549.90
28, coliected 187 49 ;
B %ﬁaﬁ%:gg..&? % _xw =$70 45 o
e olacted 48 fmore slanps Uian Zherg X Aie L e )
Merw many stamos 6K Howsnd cobect? 39% pol ity . - 27045 - 5,\.
i e Chaoge > $ 100 0+ 45 o e
% S 4 —DJ X2 .lww B e@nm ° - $29 55 (fa) I...Niw;‘.:x.;.
, . He> 394 +48= 442 () R . e ———
Mvr ho-s.: X3 =
»mo.x:a i
. . Yhat fraction of the figurs fs shaded?.
34 A3 = (RO HH3mIn ado Nasbedanniion
: =any w),u?,,nvfwv Z-"{WM.NIWilllaw. R »Sx'lllm!llnll a3 29 mvm.u?z:
1 M 3,
. ) .. .. K}
. a2 T t&i.n Vales Sk st 50" masaai of the Tk % St snotestntsen : 3. The bat orash betcw show the fovouta s crasm flavoun of  class 3 M Ton bougn 2 amber books and 3 axrdar s20%0
w.ﬁoou . ﬁsxiﬁimﬂxmuﬂmulbﬂmm&?gu e i.xﬂauﬂbm:e
».WKU u.gu Ghre your o g%%&dﬂ%&?oﬂg:gigzwa Hom sach 3074 ragezn
. 2 books + 2 muanzines> £1042 = $24
" 2k ".maym 5o - . Favouriti ke Craam . 2books ¥ 3 magaziees > £14 do
1045 {2:48 v wiB " = . | ipspw.:m - $24-90- 320
asm pe P p “” © (5 = WA, Q0 (M)
thiberat, o |4 : |
Srudents - forern
32004 NA.OG 9 “ i...H H.s
ot T .0 =
P A
2200 + 2400 = 5600 () R - gainrina o ot éﬂ“&&_smﬁ SCanat L e L S
. A ol sckers ot fat 40+ 302 (0
gix:ﬁa.!.&.!iakzki&si?-ﬁ.i .Sl LS LA 33 €030 hed s pwoch s .
then sidan, . St garre ATZ of ber panche sreiry w0 bougnd 50 pwests. 2
gg?mmu#ﬂ«nv‘:lﬁoss:iq i v o, s had 000 pancia. VN
mooo . W.wd How mariy pancks o) £ XD beve a frst? ™ ox
A . <,
oy, D6 . 347230 137 -330 ; 412 +158 Lz
: 452 137 = 1318 LA 137 T e e, 7] >} 2 [636 ] a7
20 The cnpachy of & containss 1s 90 459 How many baady ust Lynn phva 10 Janko 80 thal Doth of them woukt
- 8denlon! ] boftes of water #ra peedad to M tha contaber comislely: 439 ave tiw ke umibar of beade n D end? o231 o 9.
%ﬁuﬁﬁia%ﬂ&aea?gﬂa!& 193 TTE 1 AbA . 2[ATE £36-158 =478 Va1t
Swatyolshan 5[40 A2 Tllﬂu.l... Abhr2 o Tlp 4 4781472 = G50 (s A
VhotHes 99052 198 ,hJiL.,» ‘ u.\ 233 ke 56| Y
leup=> 198 £2 = 99 (hw) ~Es 3 —— - % : R
- gy 1
: aa. 1515 ' ’ .ll.m <
2i m m 237 5] n..Mw
Ao nwa ™ .N_.J\w . Aris: s
- -4




535



wz‘ma SR Ky
wm.?&ww,«? ,

.www. 0. ﬁ:oz3385:ﬁxusngvnwonasfme&:cx?un.ﬁ.
ALY

ainof Chalns
c Lt ueits

<
i
H
¥

Cay 1 Doy 2 Ony3

*Sarvty oM 20 rions s on Oy 2 than Day 1.
How many chalra veere s0id on Day 39

. ,n;a:.w...z.ﬁ & Aanih
SAants w0
; i 220040 B
,,.,wzn&h,m 5%3 =15 ()
: Ay “m

A%, -Adunk was fad with 8780 m) of water,
Sam poored oul 720 mi of walar fram the tank into 25 emply contakee,
{a)  How enizct watdF vens Jef b o fori? .6
Qv your snawer i fires snd millfitres.

¢ 780-129= 6051 =

e [
" v:o.wﬂumm ﬁ--ﬁsa.r: 5»:2.5.. - \_N /W, M
{8). How many rwosts dots Wayne have? \Nwddﬂ
138 -~ 129
2609 ¢me)

e e A AV, .

Ahmiad gives &5 s awesls squally o & prople,
b} Howr many swesta dosa sach person a7 P

3 .
w
N

13846 2123 cauy

e

ey 609 @
w123

45,

+

Thats st 19 dogs aod chitkans alogethar,
Thary have a tolal of 44 by,

{3} How masry doge ae tre?

L[ 2i000wml
£ostml = 6L Slml tAns)

Sam poived oul al the wiier from iha containet into 8 simbter cups,

e Niod dach cup 0 tha D bafora Mg the okt cup. v
I thes end, e was short o171 miof water. 2
{B) > Whatwas tha capactly of exch ¢up? 4471

a0

e o

>

29 A1 =800
90052 100 (hy)

Aw: () 4L Simt 2
ol o0l gy

Mushis ol f Mnmeir 45T Taba i

LYY

aatmn it Tctal fems ehack
. “IR4 328
N LY Lx2 =12 - b4
7 ¢ =y 281123 40
45 Gh4 = 32
A Bra =17 ®,
w, 5 =03 3z rloada,
Qx4 =36
Q4
@ | 4 |28 | #x2z=8 v
36+8=4-4

{B)How marry moirs toge than chicksns ste thare?

Qo ym B (b))

Ans: {8} N R . B

O = S

End of Pagar

42, The roule datalia of e MRY Trangte Liok ace 10 shown dakow,

WAT Aliont

Estimated Trave!
From lo Tims
Cashow, PasaR 8 min
Faint ) T —
Aknood Chestout $3min
Cheatrist Haxsint 20 min

8} Atrain el Cashew MAT stallon at 10.68 xm.
: \What ire WA (6 Lain reach PEEGX MRT staton?

L & min t Zmin
i ¥ y

1 113
{0:5% Qerite Q-

G

)

{0} Fanet] enncnad Hazeind MRT station.
it bad spack aboid 2 tinitay Uaveling on the Lk,
¥inich staon dd he Laks 5o Uain front?

o AGmia i Bmie g XOomin
: }

Penut Aol Oobt  Hazeloud

14413420252

ron @ M 1D g

wrfeaomd g

Dakor bakod 100 tafse sach day,
° 07:33?9-% D  weed 0K 081 OaY.

Nisnber of buna 40ks aach dsy

— |90
LS I—

e n— o i
L) —

N ;
Frowy [ :
$ ok H

D 10 20 30 40 K0 0 TD M W0

o* \mw 0
{a) Pow ey burm wers wft uneold on Faory? — W m
100~ 35= &5 (A) 6!
{0} Each b was 10k for 33
v 0 £ 2% Dewac A Born e sae of Ik o0 Towedey? B
60 x3D = 3180 (ks) A
E
we w85 m
w 3180
n
{
©
(32
[le}



